eslm e EHA B RS AR

W % 1 # % 2 &M
- BFH A B E"FLH A B
& B |deEr @k FER 98.830 wE =4 BHEER 98.790
F2/ |Z@EO Bz |EFEE 96.330 EI)I #2145 BRIRED 97.140
F3ML |AA ExR EEJNN] =] 95670 [EB A REHR 96.860
HRE  |1BE 23h RIRAR 95330 [& FRX NS 96.070
U INEB R B AR 94830 |FE)I Bt |(ILAR 95.360
U TH K RERIE 94.830 Preh EEHZE  |HERE# 94.790
U A BAER | EERT 94.330 %k EE N 94.210
U FZE - BIR#R 94.330 WHE & dtiEE 93.710
i &E& LER 94.170 Myt XKBA L 12 93.640
RS B4 I myl=y 94.000 h# EF FAIIp= 93.000
HLR &2 Frial 93.500 EZF HE HER 93.000
Bl HM—B #ER 93.330  |HAK BTk BHIRED 92.930
A€ Bt EREER 93.330 HE RiF EWE 92.930
&4 B RIGER 93.170 Hig f#— ERE 92.290
ki =8| BIRER 92.830 BE 2z HRER 92.290
EOBF fa R 92.830 NE = RIFE 92.290
IR 1B AR 92.670 BR #H2 FB 92.140
AF A BEE 92.500  |#EJIl EHiE FEER 92.070
KE BB BER 92.330 s et =EER 91.860
Hil #=— iR 91670 |BAK 5 ZHE 91.790
. %= 3 M
R ET Wa oy
' B (FE O’ EILE 96.830
2% (VA P o | I - miBe 95.830
FHIN (= A B AR 95.500
HEE =g REAR 95.330
) % BHE impl=y 95.000
U KiE &t KBRAF 94.830
U Bl fLF KBR AT 94.170
U AN BE AR 94.000
BX XF LB8R 94.000
= RER BIRER 93.670
AKX EH BIRER 93.500
ik B/ HBER 93.500
HH 4% REARIR 93.500
N X B3R 93.330
NN S E=I 92.830
22 [ HE)IE 92.500
i maE BER 92.170
Flh &F KB ¥ 91.670
FERE R |(FHEE 91.670
INR ESE FER 91.500

() FrAuTAHM 10 0 milim, FAIZ K DMAMREIZ, REHEICESESFEELZERMTVE LK,
MRBIFCBER BB, 55 1 SBP B O AR i3 F & 55 2 SRFME S O JK RS & 13RI,

PEFPERER R IE, &5 3 ERMERE O H MR T b E L7,




